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4.1 ���
�
�"�
�'��� ��'
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���)��'
�*(���	�
��
�+��"	#� 

(Settling tank) �'���"'
���
7�	
���	�����
�	����
�
��� ���!��
��"
�� 

�������	
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���
 � ���
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������������ 4.1 
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      ������������ 4.1 �������	
��
'	�(��
��
��������������	
��
��
�����������
������ 
                                     �	��)
����*�+�,
 �������	
�+-
.(���
�(��
�����
,/�(�
���0(��� 6:1  
                                     ��2���(-��
�3-�-�-*� 60 oC ����	���������*��)
6�
�3-��20 40 
��� 
 

7�������������� 4.1 ��	��+�	
���'	�(��
��
���������7���-�(�8,
�*��
+9�� 
.�*����*�+�,
��
�������������(�-��������07���-��8,
�*��
+9�� �
:��
7����;
+�	
��
���7��
����(��
����
��������� ����(:��<��
=�+�	
��*��	���
8�
'	�(��
��
���������7���-�(�8,

�*��
�	���>	 7
������
��-(�2'	�(��
��
���������'
�����:����*�	������*�+�,
��
���������
����(�-��������0�(���20 .�*�������	
�
�� 250 (-��-�-�� �8�
(�'	�(��
��
���<�(��
������
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�������	
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�/�)�9(���
��
)
�������	
��
�	���������	
�
�� 500 ��� 1000 (-��-�-�� �/�)�9��-�����*�
+�,
��
�������������(�-��������0���
�������	
�
�� 500 ��� 1000 (-��-�-����(�/���� 
(��-�(��-�����*�+�,
����	��������� 1.5 2.5 ��� 3.5 
��� ��(�/����) ����������	
 1000 (-��-�-�� 
�*������*�+�,
��
�������������(�-��������0���
�������	
�
��  500 ��� 250 (-��-�-��
��(�/���� (�*������*�+�,
����	��������� 10.5 12 ��� 14 
��� ��(�/����) �
:��
7���������
�� 
1000 (-��-�-��(���-�	2������<�(��(<�����<-	��
�������	

9�*�	���������	
�
�� 500 
��� 250 (-��-�-�� (�������	
��-(��� 250 500 ��� 1000 (-��-�-�� (��:,
���<-	��(<��������
<�(������� 302.03 196.04 ��� 166.72 ����
��
�-�(�� ��(�/����) �/�)�9��-���
���*���
��-�	2
<-	��(<������������	

9�* ��
<�)�9��-�����*�+�,
��
�������������(�-��������0��-�=�9��>	   
 

�������	
���	��
��	
��
��
��������-(��� 250 (-��-�-������
����9
<��

I�
*0���
��
6�
��7( (H/D)  
  (H/D)250 = 24.0/3.8   = 6.3 
  (H/D)500 = 12.9/4.8   = 2.7 
 (H/D)1000 = 8.8/6.1     = 1.4 
 
 7�������������� 4.1 ����*�+�,
��
�������������(�-��������0(����L2�
��;
�����	��� (S) ��(��6���(�2.�*)+9����(�����
NO
�0+�
��7-��-� (Logistic function) .�*
���
)
�(������ 4.1 '��'
�����
�(������'�� R-square ��:����*����+:���
8�
	�� ^��(����-�_-`��

����/��
�a ��.�*)+9������� Lease square method <��
��
���)+9.�����( Solver ���
'/�
	2��'��'
���NO
�0+�
��7-��-����
)
����
 4.1 �����	��'��'
������=�9��(��6)+9��

'	�(��(��
_0��
+���9�(�����
� =�9 �
:��
7�������+��(�'�� R-square (���	�� 0.99  
 

H/Hmax = a*(1+ (m*exp(-t/p)))/(1+ (n*exp(-t/p)))  (4.1) 
.�*��� H/Hmax ':� �������	
��
'	�(��
��
��������������	
��
��
�����������
��� 
           t          ':� �	��)
����*�+�,
��
�������������(�-��������0 (
���) 
  a m n ��� p ':� '��'
�����
NO
�0+�
��7-��-� 
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����
��� 4.1 '��'
�����
NO
�0+�
��7-��-����'�� R-square �������	
�+-
.(���
�(��
����� 
                   
,/�(�
���0(��� 6:1 )+9�������	
�
�� 250 500 ��� 1000 (-��-�-�� ��;
6�
��7( 
 

�������	

((-��-�-��) 

H/D a1 m1 n1 p1 R-square 

250  6.3 1.01 -1.44 49.58 1.82 0.999 
500  2.7 1.00 -2.36 41.77 1.44 0.998 

1000  1.4 1.01 2.80 64.26 1.54 0.996 
.�* a1 m1 n1 ��� p1 ':� '��'
�����
NO
�0+�
��7-��-�����	��)
����*�+�,
��
    

�������������(�-��������0��(��
_0����������	
���	��
��	
��
��
���<�(����
����9
<��

I�
*0���
��
6�
��7( 

 
4.2 ���
�
�"�
�'����!�:���
����
�
�"'
��;
���<
��� (Mole ratio) �'���"'
���
7�	
���	

�����
�	����
�
��� ���!��
��"
�� 
�������	
���	��
��	
��
��
��������������	
��
��
�����������
�������	��

���
 � ���
��
������������ 4.2 

       

0

0.2

0.4

0.6

0.8

1

1.2

0 5 10 15 20
���
7�	
���	���� (�
��)

��

�
�(�

�

�	
���
�


�

� 
(�
�.
)

       
������������ 4.2 �������	
��
'	�(��
��
��������������	
��
��
�����������
������ 
                               �	��)
����*�+�,
 ��2���(-��
�3-�-�-*� 60 oC ����	���������*��)
6�
 
                               �3-��20 40 
��� )+9�������	
��-(��� 500 (-��-�-����;
6�
��7( 
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7�������������� 4.2 ��	���������	
�+-
.(���
�(��
�����
,/�(�
���0(��� 
15:1 ��-�(��-�����*�+�,
��
�������������(�-��������0 ���
�������	
�+-
.(���
�(��
�����

,/�(�
���0(��� 10:1 ��� 6:1 ��(�/���� (��-�(��-�����*�+�,
����	��������� 0.25 1 ��� 2.5 
��� 
��(�/����) �������������	
�+-
.(���
�(��
�����
,/�(�
���0( 15:1 �*������*�+�,
��
         
�������������(�-��������0���
�������	
�+-
.(���
�(��
�����
,/�(�
���0(��� 10:1 ��� 6:1 
��(�/���� (�*������*�+�,
����	��������� 1.75 10 ��� 12 
��� ��(�/����) �
:��
7���������	
�+-

.(��(��
�����
,/�(�
���0(��� 15:1 (���-(�2�(��
��������:�7������/��3-�-�-*�(���	��
�������	
�+-
.(��(��
�����
,/�(�
���0(��� 10:1 ��� 6:1 ��(�/���� �8�
��-(�2�(��
��������:�

�,
�/�)�9���<�(���=�97������/��3-�-�-*�(�'	�(�
:����
 ��
<�)�9����*�+�,
��
���������
����(�-��������0��-�=�9��>	 

7�������������� 4.2 )+9.�����( Solver '/�
	2��'��'
�����
NO
�0+�
           
��7-��-�=�9���N���)��9�'�*
���������=�97���������
 ':�'�� R-square (���	�� 0.99 �(:�����*����
'�����=�97���������
7�-
 .�*'��'
�����
NO
�0+�
��7-��-����'�� R-square ���
)
����
��� 4.2 
 
����
��� 4.2 '��'
�����
NO
�0+�
��7-��-����'�� R-square �������	
�+-
.(���
�(��
����� 
                   
,/�(�
���0(��� 6:1 10:1 ��� 15:1 )+9�������	
�
�� 500 (-��-�-����;
6�
��7( 
 

�������	
�+-
.(�        
(�(��
��:
,/�(�
���0() 

a2 m2 n2 p2 R-square 

6:1 1.00 -2.36 41.77 1.44 0.998 
10:1  0.98 2.51 190.51 0.45 0.993 
15:1  1.00 0.85 31.50 0.13 0.999 

 
.�* a2 m2 n2 ��� p2 ':� '��'
�����
NO
�0+�
��7-��-�����	��)
����*�+�,
��
    

�������������(�-��������0��(��
_0����������	
�+-
.(���
�(��
�����
,/�(�
���0(  �8�
7��
�9�(��7������
��� 4.1 ��� 4.2 ��	��'��'
��� m n ��� p ��
NO
�0+�
��7-��-��8,
�*������������	

�+-
.(���
�(��
�����
,/�(�
���0( (R) ����������	
���	��
��	
��
��
���<�(����
����9

<��
I�
*0���
��
6�
��7( (H/D) ���'��'
��� a �8,
�*������������	
�+-
.(���
�(��
�����
,/�(�

���0( ����������	
���	��
��	
��
��
���<�(����
����9
<��
I�
*0���
��
6�
��7(
9�*(�� 
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78
�/��
�)�9'��'
��� a ������� 1 �/����������'��'
���)
����	(�7
0'��'
��� m n ��� p ��

NO
�0+�
)+9������� Lease square method <��
��
���)+9.�����( Solver  

 
4.3 �(<���AB�	�����
#!�"!	 

����	(�7
0��
'��'
�����(����
��� 4.1 ��� 4.2 )�9���'�9�
���NO
�0+�
         
��7-��-� ��(��6���(�2=�9��
�(��� 4.2-4.4 .�*(�'�� R-square ������� 0.997 (7/�
	
�9�(�� 
105 +���9�(��)  

 
H/Hmax = a*(1+ (m*exp(-t/p)))/(1+ (n*exp(-t/p))) 

m = (-0.016*(H/D)2+0.40*(H/D)-3.33)*(0.041*R2-0.69*R+0.3)/-2.36 (4.2) 
n = (3.97*(H/D)2-33.59*(H/D)+103.5)*(-7.67*R2+159.83*R-641.26)/41.77        (4.3) 
p = (0.037*(H/D)2-0.23*(H/D)+1.78)*(0.02*R2-0.57*R+4.14)/1.44         (4.4) 
.�*���  H/Hmax ':� �������	
��
'	�(��
��
��������������	
��
��
�����������
��� 
                 t     ':� �	��)
����*�+�,
��
�������������(�-��������0 (
���)            
               H/D ':� �������	
���	��
��	
��
��
���<�(����
����9
<��
I�
*0���
��
6�
��7( 
                R    ':� �������	
�+-
.(���
�(��
�����
,/�(�
���0( 
 


/�'��'
��� m n ��� p ��
NO
�0+�
��7-��-������(��
_0�����,
�������	
���	��

��	
��
��
���<�(����
����9
<��
I�
*0���
��
6�
��7(����������	
�+-
.(���
�(��
��
���
,/�(�
���0( 7���(������ 4.2-4.4 ��
)
�(������ 4.1 7�=�9NO
�0+�
��7-��-�����������	
��

'	�(��
��
��������������	
��
��
�����������
�����(��
_0����������	
���	��
��	
��
��

���<�(����
����9
<��
I�
*0���
��
6�
��7( �������	
�+-
.(���
�(��
�����
,/�(�
���0(
����	��)
����*�+�,
 �8�
�(:��
/�(�����*����*���:��/�
�*<��������
)
�������2� ��	��=�9
'�� R-square ���
��
������������ 4.3-4.11  
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������������ 4.4 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 6:1 )+9�������	
 
                                        ��-(��� 500 (-��-�-�� ��;
6�
��7( 

R2 = 0.998 
 

        ':� �9�(�����=�97��������(�2 
        ':� �9�(�����=�97���������
 

R2 = 0.999 
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������������ 4.3 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 6:1 )+9�������	
          
                               ��-(��� 250 (-��-�-�� ��;
6�
��7( 
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������������ 4.5 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 6:1 )+9�������	
 
                                         ��-(��� 1000 (-��-�-�� ��;
6�
��7( 
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������������ 4.6 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 10:1 )+9�������	
 
                                        ��-(��� 500 (-��-�-�� ��;
6�
��7( 
 

R2 = 0.993 
 

        ':� �9�(�����=�97��������(�2 
        ':� �9�(�����=�97���������
 

R2 = 0.996 
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������������ 4.7 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 15:1 )+9�������	
 
                                        ��-(��� 500 (-��-�-�� ��;
6�
��7( 
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������������ 4.8 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 8:1 )+9�������	
 

                                         ��-(��� 250 (-��-�-�� ��;
6�
��7( 
 

R2 = 0.999 
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������������ 4.9 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 8:1 )+9�������	
 
                                         ��-(��� 500 (-��-�-�� ��;
6�
��7( 
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������������ 4.10 �������	
�+-
.(���
�(��
�����
,/�(�
���0( 12:1 )+9�������	
 
                                         ��-(��� 250 (-��-�-�� ��;
6�
��7( 
 

R2 = 0.982 
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        ':� �9�(�����=�97���������
 

R2 = 0.980 
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H/Hmax = (k+ (m*exp(-t/p)))/(l+ (n*exp(-t/p)))  (4.5) 

   m = a1*(H/D)*R+a2*R2+a3*R 
n =  b1*(H/D)*R+b2*R2+b3*R 
p =  c1*(H/D)*R+c2*R2+c3*R 
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R2 = 0.984 
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����
��� 4.3 ���
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������
���
NO
�0+�
��7-��-���
�(������ 4.5 
 

��	��� '��'
��� ��	��� '��'
��� ��	��� '��'
��� 
a1 0.014 a2 0.022 a3 -0.262 
b1 0.006 b2 -0.048 b3 0.523 
c1 0.093 c2 -0.217 c3 3.117 
k 0.218 l 0.219   
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����
��� 4.4 '�� R-square ������(�2'���������	
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�������	
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((-��-�-��) 

(H/D) R-square 

6:1 250 6.3 0.997 
6:1 500 2.7 0.979 
6:1 1000 1.4 0.987 
8:1 250 6.3 0.994 
8:1 500 2.7 0.989 

12:1 250 6.3 - 
12:1 500 2.7 - 
10:1 500 2.7 0.989 
15:1 500 2.7 - 
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